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FIFTH SEMESTER
CIVIL
SCHEME JULY 2008
QUANTITY SURVEYING ESTIMATING
AND COSTING-1

Maximum Marks : 100
Note : (i) Attempt total five questions out of eight.
Fdl AE d 9= 0T 4 H

(i) In case of any doubt or dispute, the English
version question should be treated as final.

TRl o us % E22 Fuar A F Raid |
FUST AT & 49T &) AW g FEm

Time : Three Hours

1. a) Listtheinformation available in C.S.R. 5
Tafad 1 gRasl § SUee THEN H gl 995
b) What are the rules for deduction of opening in

masonry in calculating plastering? 5
WRE & TOFT Fd TG AR & de WE F
fou FAAt F @ w27

¢) Calculate the rate per unit of Ist class brick
' masonry in cement mortar 1:6 in super structure.
Assume rates suitably. 10
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Tem dofl Z2 A die 999 1.6 F A9 § g0
wFR § U gFE @ Sl T S E S
qH |

Differentiate between: 10
i} Original estimate and reused estimate

ii) Supplementary estimate and addition
alteration estimate.

i) UW WEed U4 gAdied T
i) T WMEeH UF TEeH Jeeie e
Calculate the quantity of material required for:

i) Ist class brick work with 1:6 cm, length
of wall 100 m, thickness 30 cm and height
3.0m.

ii) 20mm thick cement mortar plaster CM 1:3
for 150 sq.m. 5 each

i) 100 1. @, 3 d. S w30 T A
Az T 1:6 o oo ambEi @ a6 i)

i) 20 Frfl. 9RE @ 1:3 dWe 918 1 TR,
150 71 1. 3 @0 Myl

5/2016/6181 Contd.....

woo*auljuoadBammm/i:dizy



woa*auljuoadbimmm)i:dizy

wodauljuoadbir-mmamn/:dizy

3.

S/2016/6181

http://www.rgpvonline.com

(3)

a) Prepare a preliminary estimate of an office
building carpet area 250 sqm, 30% of built up
area is taken up by corridor, verandah etc and 10%
by walls. Assume plinth area rates
Rs. 7000/sq.m. Also make provisions for
electricity, water supply, sanitary fittings,
contingencies and other services. 10
UF FETAE Y99 F1 THIHF MdEer 4124 934 A
FRUE SFEA 250 W H1. 21 30% FHHA &=
FHRER WA A W@ 10% &% $@ri # 2l
fidy ufEm @ . 7000 U @ @1 @i W@
T § fagd e, Savam ud =, e
9 Gt a9l 4 HAEi 2g TEAE 6 S

b) Define the following: d
1) Plinth area i1) Floor area
Temferiiad i Ry fafE:
i) FHEl = i) et aawE
¢) Write the units of measurement for the following
5
i)y D.PC

ii) Barbed wire fencing

ii1) RCC work

iv) Steel reinforcement

v) Brick work in thin partition wall

P.T.O.
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FrfaiEd #1 Ja g @i
i) e A @

i) HW arl RN AR

iii) w4191, ®E

iv) ¥ fgawaae

v) AW AR gE B TER

4. TheR.L of ground along the central line of a proposed

road from chainage 10 to chainage 14 are given below.
The formation level at the 10th chainage is 107m and
the road is in downward gradient of 1 in 150 upto
chainage 14, formation width of road is 12m and side
slope of banking are 2:1 length of the chain is 30m.

Draw longitudinal and typical cross section of road
and calculate the quantity of earth work. 20
UF TEad @3 & 104 § 14 3 249 ([) aF &
T F THEE ad 90 T 2| 10 § 999 1 EHEE
wae (P &@) 107 91 21 95& #1 g 109 9 14
4 TR % 1:150 21 Tz F Wi 9EE 12 4. an
W a0 # P 2:1 2 Fi| WA 30 q. 2
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HEH H AT T ST FE HC A FE - forell Ted T @ AT 220 H. F fow Frgl we
T AT = 1 T iR EReE dEE 10 . 26T RE A
Chainge RL of ground %: SO FAY: 1.8 /1. vF 1.9 Hi. 21 wied g =2:1
¥a  wdE w1 R &9 g A7 g9 we [ | TOAT i)
10 105.00 ¢
1 105.60 S 6. a) 150mme¢ S.W sewer 150 m long is to be laid.
R =3 Calculate the cost for the following: 10
12 105.44 = i) Sand 0.004 m3/joint @ 180 per cum
13 105.90 i; i1) Cement 0.012 bags/joint @ 250 per bag
14 105.42 3

iii) Spun yarn 0.095 kg/joint @ Rs. 60 per kg
150 W1, =z #1150 |, vl TH. gag, Hew
Ty foBm & oo Fufaiad 8 @ a1 #H
TUHT HITAT

i) ¥ 0.004483/9E @ %. 180 Uid = H1.

ii) d@Me 0.01247/9AE @ %. 250 ufd 9

iii) 32 0.095 .11/ @ ®. 60Ufd .

b) Write the factors on which rate of any item
depends. 5

T4l 12 % {2 1 U & AT Rl & o]

c) Write down the % provisions to be made in the
estimate for the following items of works

-

5. a) Write methods of calculating earth work for
roads. Explain each method in brief, which one
is best. 12
TAE 1 I0F FA U 9dlEU & RE-H0 EE
T 27

b) Calculate the quantity of earth work for a portion
of road, length = 220 m formation wdth 10 m,
height of banks at two ends are 1.8 mand 1.9 m
respectively side slope 2:1 (H:V) use mid
sectional area method. 8
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i) Electrification

ii) Water supply and sanitary

iii) Work charge establishment

1v) Tools and plants

v) Miscellaneous 5
T § Falatad 76 & fn e wided W9
W AN F UETH 27

i) TR

i) AwRE T =l

iii) FHEAWTE ©E & dad

iv) TTEIOT OF HefH

v) I FR A4

Cross section of 20 m long wall is given below.
Calculate the quantity of materials required for
construction of the wall. 12

Sy T30 e TEmgEn 20 9. @ fER 79 &g
Write the methods of stage I estimate and
explain any one in brief. 8
EAEY

PT.O.
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8. Calculate the quantity of the following items of work
from enclosed drawing:-
1) Earth work in excavation 5
11) First class brick masonry with CM 1:6 1n super
structure and foundation. 10
i) 2.5cm thick DPCin CC 1:2:4 5
T fa () 9 Fafafad we 530 $1 Jen #
T FiTAT|
i) FEE A e
i) G0 Taa UF 94 § 1:6 9He TR | uum Aoff 3¢
ii) 2.5 FHi. JE 1:2:4 diHe FHihiz & Haa4t 2
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75 cm LG, over A8
{10cm AB. Siab. |8
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